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26. Find out the synonym for the italicised wofd
given in the following sentence.
He was filled with remorse for the action.
(a) revulsion (b) regret

(c) despair (d) repentance

927.\ Which of the following is the correct passive

DS.TF-2-24

Fill in the blank with the correct option.
one of the boys was in the playground.
(b) Either

(a) Neither v~
(d) Ally

(¢) Every

32. \ Find the correct sentence.

(a) Heisrich enough to starve.
(b) He is too rich not to starve :
(c) He is too rich and he starve.

form of the following ? ) )
(D) (d) He is too rich to starve
> S ; - ?” P N AW = -5 ey ~ .
Who hasicR thie bge (‘L{?j 33.) Choose the copfect antonym 0 the following
(a) By whom has the tree been cut ? @ 0 word.” T R .
(b) By whom was the tree cut ? ' m Gloomy N
e (a) Cheerful : e
{¢) By whom was the tree cut by 2 (b) Boring <« ' o
(d) Who has the tree been cut ? @ Straight B
©~ (d) None of the above
Py o . p /" ;
2{'7 Change into direct form : 4.\ Select the word which is opposite in meaning
/ 1 said to him, “How do you know this ?” of the following :
(a) 1 asked him that how he knew that. Indiscreet @ o
(a) Honest. (b) .. Prudent »

|

(b) I told him how I knew that. O

(¢) Iasked him how he knew that. @ N(@
m .

(d) I asked him how I knew that. o)l

29.

meaning of the idiom given below :
“T'y end in emoke’.

ta) To have no result; to come to nothing @

v

() To find out the smoke

(e) Tofind out the result in the end

(d) To come to an end X8

N . ; £ ]

@ What is the meaning of the idiom, ‘Blow opg’s
5 own horn' ? ™
(éyl’

(n) To be the devil's advocate - ()

(¢) To announce sclf defeat

(d) To boast about oneself

..............

(c) Stupid (d) Reliable

The art of beautiful handwriting is kﬁowﬁ as :
(a) Designing (b) Stenography
(¢) Orthography (d) Calligraphy *

"~/ the given statement/sentence :
“Anything written in a letter after it is
signed”.;l : . _ ;
(a) Manuscript (b) Corrigendum
(¢) Postdiction (d) Postseript ¥

/—"\ N
) Choose the correct option to find out ¢ hz 36. ) Choose the correct alternative which replaces

37. ) Which among the following is a correctly spelt

word ?
(a) Obliterate
(¢) Obleturate (d)

Fill in the blanks with the’correct options.
he failed.”

(b) Obliterait ()
Obleterate

% heworked,
“a) Hardly; when
(b) Though; yet ' @
(c) Other; than

(d) No sooner; than
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G .
Read the following passage carefully and answer
q”estions number 39 to 43 based on the passage.

DS.TF-2-24

=

.‘ What should be the outcome of leadership
actions ?

-shi ies i - AT t towards the vision of the
LeadBIShIP studies 1s an emerging discipline, and kl:)(a) Movemen

{he concggt of leadership will continue to change.| A2
Leadership lore is defined as an influence/ among iw‘ :'t!(b) Movement towards the vision of the
leadem\’el‘s who want real change and Eij majority. ,
outcomes that reflect their purpose shared by the (’*f’)(c) Movement and strengthening of the
laders and their followers. Influence means that | (V)gauthority of leaders.
he Telationship among people is not(pags_i?e‘,\
however, also ‘part of this definition is that inﬂueﬁc/e
i@lt does not use orders or threats
to make somebody do something. Leadership is @ Find the synonym for the word ‘traditions’ in
somem does to a follower. However,
Ieadexfs’h‘ﬂ has an effect in both directions. In most (a) Organization (b) Lore @
organizations, superiors influence subordinates, but WU
subordinates influence superiors as well. The people L3

leader.

0":',\ ovement towards common vision of the
(leader and the followers. \@

the above passage.

(¢) Relationship * (d) Leadership

mvolved in the relationship want real and ‘ 4"‘; : ) ) 5
important changes — leadership involves creating 4%5., What is the main theme of this passage -

ot g W 30 P ; . ,
change, not maintaining what normally happens. m\_#1 (@ Explanation of leadership construct

additw by| €2 () Future of a country
. {0 .

leaders, but reflect the purpose that mOtIV.at s them (©) Plitics of a country Gy
toward this more preferable outcome. ‘An important ]

aspect of leadership is influencing others to come (d) Discussion about followers

together around a common vision. Thus, 1eadorshib N w41 e plank with th opti
iwvolves the influence of people to bring abou( 44. i1l in the blank with the correct option.

bty owards desirable future. | We - ourselves to the circumstances.
%i (a) Adept . (b) Adopt
hip discussed in this| /2
The conf:ept of leadership 1SCU: (j ‘?E (c) Adapt (d) None of the above -
passage is : (v '
() E t 1 | 450 4
‘ xc'e]? 1ona} ; 45N Select the correct order of mending the
(b) Individualistic * S .
{¥) puncture in a cycle tube :
(¢) Vertical/Top-down : .
@ o rontal 1. Wait for material to dry.
: 2.  Remove tyre and tube and dip in water to
‘ @ “Leadership studies is an emerging discipline check.
means : . 3. Fix the tyre and tube.
(a) Leadership studies is an established field. :
i ‘ i Jaborate fiel d Mark the spot and apply puncture
/O ) Leadership studies 1's an ' d : mending material. 4
(¢) Leadership studies 18 an evolving domain
of scholarship. - (a) 1; 3,2,4 () 2,3,1,4
(d) Leadership studies is a valid field of () 4,38,2,1 d 2,4,1,3 »
______ research.
---------- A 5 A TR A
i \
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47.

G

Which of the following is an example of |46.

mediated communication ?
A newscaster delivers the weather report

(a)
on 9 o'clock news

(b) Students work on a class project together

(¢) A politician addresses a nominating
convention O

(d) Two friends gossip with one another (0

The role of a leader is defined by the tl;ge 47.

circles of need : o

1. Task Q

2. Function

3. New ideas

4. Team

5. Process

6. Communication
7

. Individual
Select the correct answer from the codes %gen ;

below : ~
(a) 2,4,1 b) 1,4,7 &)
© 3,1, 6@ @ 7,5,3 e~

9

If in a non-leap year, it is Tuesdaf bn 48.
28" February, then what day will be on |
281 March of that year ? '

(3) Monday - (b) Tuesday
{¢c) BSunday (d) None of the above
. What are the examples of interpersonal 49.
communication ? W
1, Beminar w0
2, Journalism N
0 e : )
3. Office operation e
4. Letter writing ()
) STy ()
5, Btudy-Teaching

3,

6. Convergation

7. Interview

Uedeet the correet answer from the codes given
b[f]l)&" :

6,763 (b) 4,6,2,1

(d) 2,4,7,6°

(i)

FrefrRad & & -8 HEAEIT TR T SRt 3

(a) Torel GETET SEqaRdl 10 9 SIS ol G
g H AT -

(b) DT T TerElt e SiISIe T T W 4 3t

(©) @u‘aﬁmmwmﬁwﬁmmj

(@ o e s smmuE T

ﬁmaﬁnﬁwmww%?ﬁqaﬁm
qﬁwﬁaaﬁwﬁ%

1. wH
2. it
3. TufEm
4. - G
5. SfsRam
6. TIYT
e e
ﬁ%ﬁqwmﬁaﬁ’rwaﬁrwﬁﬁq
(a) 2,4,1 (b) -1, 4;-7-
© 81,6 d) 17,5,3
Ife St ofig af =T, m Ay 28%1?313(1‘{71631“{
TEdT Y, R o8 T A oGS EEE R RM?
(a) GHER (b) HTAEAR
(0 @R (d) :m’?ﬁfr@rﬁéqg‘}

Ww%mﬁ#ﬁ?@r%?
1. st _

2. eI

3. S S
4. WA

5. 3T — ITATYH
6. dmicg

7.  HIETERR

ﬁﬁ:ﬁ{ﬂqf«:ﬁv‘s"rwmwaﬂﬁq

(b)) 4,5,2,1
d 2,4,7,6

(a) 6,7,5,3
() 2,3,5,7

{c) /,, 5 (i 7

a
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.@:5% Th mber of i el 03ﬂt2n>4aﬁ
e nu r of inte c o = E 22 =
50 ,n+2_>_0an(12n24is:ger's " satislying ) so. n‘{\“ﬁﬁaﬁ% i,
(@ 1 ® 2 e A, b 2
o 4 @ o () i @ 0
5. 3.digit largest prime number is ; 51. gﬁ)q Waﬁg—aﬁa@"r AT TE e :
(a) 998 @ (b) 997 @) 998 b) 997
(c) 996 (@ 999y © 996 @ 999
g2, Let A=1{a,b,ce fg,B=1(,c4dfg ht%z T Re A= fa, b, c, e f, &), .
and C = (¢, d, e, g h, i.. The value ofN p_p cdfgh@NC=ldes b, i) |
(A-B)-(A-C)-(C-B)is: o A ];)’(A@C)_(CaB))-amm%;
(2 (b ® o) N AT
¢ o @ b (b (e}
@ ¢ (d {a} on © ¢ @ f{a}
53.) Who first calculated the value of 7 ? 53. T %maﬁrmaﬁfwﬂﬁeﬁ@r off ?
(a) Archimedes -« (a) _
(b) Aryabhatta (b) EWE
(¢) Thales : () |
(d) Pythagoras ¥ (d) UTEYTIE
54 By dividing x3 — 6x% + 2x — 4 by '—23 x + 1, the 54, x5 — 6x% + 2x — 4 I, 1; x+ 18 9 W
remainder is : L e }13 ITHEA S -
@ -2 (b) 136 h @ -2 (b) 136
27 ) 27
; 6 136
(© —136 @ = P @ -1 @ S
55. The value of x in the given figure is : '55, RIS aq@‘ﬁfﬁ X FAFST
C

W2
Ul
M
oD
N
o) @ 120 (b) 110°
& (b) 1100 PAL
Ea; 1?)(()) (d 130° M @ w0 @ 130°
c o]
' .t Preafolaa SfeRel 1 e 11 7, 1 K 1 AH
56. If the median of the following data 15 11; then 5 SIS : :
find the Val‘\ile pfg(: 5 s, 20 3,21,10,7,6,9, (K +6), 15,20
3,21, 10, 7\\6, 9, +‘(l;) 6 : (a) 7 (b) 6
Ea)) 7 & ) 5 d 4
¢ 5 i e e e T e, o
_______________________________________________ /\7/\
; b ‘*’ 1
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58.

59.

G4,

8 ) i :
The factor of expression (x +¥)° + (X 2y) is
2
@ Sx(x>+3yd (b 2x(x"-3y%)

0o i Oyl
© 2x(x2+8y?) (@ 3Sxkx 3y)‘ .

The work capacity of A is three times moré,
i that of B. Both of them together car
complete a work in 15 days. In how many dayg
will A alone complete that work ? | "
(a) 1875 by 21 ¢
(c) 20 d) 18

The cost price of 40 oranges is equal to the

erest rate is ¥ 19,”
then find the amount,

(a) * 1200
¥ 2400

(h) % 1000

() (d) 7940

Surya sells 46 pens and sufferg
the pelling price of five
losu pereentage 7

() 11'11%

a loss oqual to
pens. What ig hig total

(l’) 12'5’7/()

157

ﬂ —
SIZTZET

selling price of 30 oranges. Find the
percentage profit.
(a) 25% (b) 33:33%
(c) 22% (d) 20%
= Lheo.
A man covers half of his journey at a speed of |y
; 6 km/hr and the remaining half at a speed O}
3 kmvhr. His average speed is : )
(@ 3 km/hr ®) 4 km/hr e
9 km/hr (d) 45 km/hr ¢ Yy
umber when divided by 53 gives 34 as
qdotient. and 21 gg remainder. Then the |61.
umber is : '
(a) 1800 (b) 1723
(¢) 1924 (d) 1823 .,
62. The number of subsets of A = {0, 1, 2} will be ¢ 162.
(a) 7 (b) 9 Wh
c) 8 @ 6 'l
()]
63. If the difference between compound interedil
ind simple interegt on a sum of money {f[i63-

(¢) 10% (d) 99,

A 8 A i

08 1.

TH (x + y)° + (x—y)33?TﬂUFf@g%. “

(a) 3x(x%+ 3y2) (b) 2x (y2_ 3

© 2xG*+3y%) (A 3x(2_ 3%
AT ok 74 1 15 ﬁﬁ‘ﬁfﬁm%l Ay
wﬁaﬁﬁmﬁﬁﬁﬁ@@ﬂ? '
(a) 1875 (b) 21

(© 20 d 18

: 40Haﬁwmnc§a(cp)3oéaﬁ%%mq@

(SP) % SRIR & | ST frer 31 ifvre |
(@) 25% (b) 33-33%
) 22% @ 20%

T et It et Im 6 fRef/eer € g
aﬁxﬁqmﬁws%ﬁ/ﬁaaﬁwﬁmwél
SHHT T Iy R

@) 3 ffiyeer (b) 4 fpefi/eier
(© 9 ffifse (d) 4-5 ferdi/eer

U T Y 53 F foraiir Y T e 34
21V BT 8 | Y TR HE R

(a) 1800 (b) 1723

(c) 1924 (d) 1823

A =10, 1, 2} & Syaw== it g 2
(a) 7 : M®) 9

© 8 @ 6

R 10% eF arer ey 2 i et e ¥
TG ST ST Wrermor sy F sir = 12 2, 9

eriﬁﬂﬁﬁﬁfm
(@) = 1200 (b) % 1000
(©) % 2400 @) < 240

T 45 e e 5 et 3 faa v 7 A

I ST R | 8 e o v anfr g 2

(a) 11-119%

(b) 12'5%
() 109

@ 9%

)
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Find the missing numbey in t

arrangement based on some prhmi;)ele f;Ollowing 65. el Rigr % STUR W frfafaa a0 # s

0] 7 | a T ) Tt I 4
3 ' 10 | 7
1 : : e 3 9 9
5 | 18 | 21 | e 5 | 18 | 21
Select the correct answer o . Al 2 :
below : er from the code Ve, ﬁﬁ“@ﬁﬂﬁwwwa;”%lq:
(@) 5 ® 6 » (@) 5 (b) 6

PENE

NG 8 @ 4 oy @08 @ 4 ‘
{@ What will be the next item in the series 66. 7,11, 19, 35, 67 ETRte I IS USIRES

7,11, 19, 35, 67 ? () T BT 2
(a) 121 (b) 131 S (a) 121 (b) 131
A\(e) 133 (@ 99 (c) 133 (d) 99
gl - allOW_s several people to use softwarei 67. &S AT el gg_%ﬁ_iﬁ?l Ll M kil
cab the same time to create documents, keep IR F iy ST 24T § aTfR e ECIERC)
" track of projects. s Al 3 T
' W) foe wfEsTTet 1 2o @ Wt |
(a) Groupware (b) E-mail * s - —=
T \ (a) TERR (b) 3-He
: (c) Network (d) Software i) N : N
; 68.) Another name of interpersonal communicat{i‘o’i; (© . (@
\ /s () |68,  STISERA SR H U AW :
(a) Face-to-face public communication U'ﬂ (a) STHA-GTH TSI+ G
(b) Diadic communication : e (b) SEfeH (fecfaep) €=
(¢) Virtual reality O : (c). ITIMTET IRforehar o , ,‘
(d) Mass communication (@) STEER \
69. Which one of the following pairs is not|69. TiFiiciied i o & i-a1 Tw el GAfora 721 2 2
correctly matched ? . (a) HFSTEH — IEUR-IfoRa Tgee Rrgia
(a) Thorndike — Stimulus-response bond _
7 thedry  (b) TTEEE ‘{\W(ﬁ'{?l"{' & m)
(h) Pavlov  — Gestalt theory W3 © fem - e el Rrgia
(c) Skinner — Operant conditioninglé::i;j (d) PIER - HA<re (F30) A1 Rrgia ’
theory ‘._,»Z 5 : '
X ! i » f
) it Tt theory e | 70 ﬁﬂ%{f@a% - 7 ¥ FH-H w I foky ﬁrﬁw #
| S o teristic df'a ' ,
0.’) Which of the following is & characteriSiet, (a) 3T R R S S
\ good decision ? (b) TR RET ST ' M
() Itis based on intuition (¢) e feceeeht o i 1 ardel (adem) e e
(b) It is made quickly . . (d) ¥ TaEE i
(¢) It ignores stakeholders’ 1ntere:st e N N 3
‘2 (d) TItis feasible and achievable : 71. %‘%T% . = b Sl
.-)Th Iaan blem solving where the o ; da j
¢ process of proble » . (a) TETd R”Riq
problem has only one single answer 15 ——— :
(a) Divergent thinking 12 .
(b Convergent thinking (c) T e e
(¢) Trial and error (@) I
_____ (d) Insight e . eyt L~ LR
"""""""""""""""""""""" AQA
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‘ If CONSTABLE is coded as 91, what Wlll be
the code number for STABLE ?
@ 78 0 59
! (c)...75 (d) 97
@ If BELONGINGS is coded as TABLESTESF,
, how will you code LINEN ?
(a) BTAEA (b) BATEA ; (e .
i (c) TABEA ' (@) BTEAE ‘' \D
| o
' Which one is different from the other tgg%e ?
(a) Table: () Gate 6
(c) Window (d) Door ¥}

As ‘poster’ is relatéd to ‘wall’,
‘Photograph’ is related to :

@
: (a) Beauty
(b) People
rl
: () Frame O
; (d) Camera (X®)
' i ™ 76.
| 76.\ When two people get together, {fhe one
: who appears more relaxed in body fgﬂguage
: ()
(a) ishigherin power hierarchy A
{ (b) 1is senior in age
(¢) belongs to higher socio-economic status
(d) All of the abhove .
717. is influenced by inter-personai | 77-
context,
1 . . "LE)
(a) Gesture and posture 0O
,D (b) Problem solving £
< {¢) Education “3
("
(d) Speech style : “-)
(D] 78.
Among 200 pergons, 90 people like tea while
108 people like coffee and 46 people like both
tea and coffee. How many people like neither

tea nor coffee ?
(a) 44
(c) 46

(h) 62

in the same way

73.

- gf& CONSTABLE &I 91 % &q 3

74.

75.

DS F\2~24

T
2,7 STABLE 1 s e wr 2y, 7

afs BELONGINGS %1 TABLESTESy 3 S
aﬁ%a%mm%,ﬁLINENawaﬁgwg}m?
(a) BTAEA (b) BATEA

(c0 TABEA (d) BTEAE
ﬁw%@aﬁ%ﬁq-wmaﬁ?ﬁﬁm%?

(@ A (b) WIEH

©) Faght d) &

3% Y dm 2wt 2) 53 @
e et § 2 T
(a) Y=< (Beauty)

(b) ?ﬁ‘T(People)

(© % (Frame)

@ Fmg (Camera)

aaﬁwﬁsmﬁ%ﬁ%r%, T ST ¥ ST 3 9w F
oo i o M gt 2 €l

{
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9. x—4 and 2x — 1 are factors of which of the
following polynomials ?

(a) 2x°-Tx2+5x—4
(b) 2x®+ 7x®-5x+4
(¢ 2x3-7x>-5x+4
(d)

- B )‘v.('\

2x3 + Tx% + 5x + 4

r

13 is related to 2190 in the same way as 14 is

related to :
(a) 2737 (b) 2738
(¢) 2739 d 2736

In a circle, if radius is doubled, what happens
to the area ?

(a) It triples

(b) It quadruples

(c) It remains the same -
~ (d) Ttdoubles

(2o 2y

The values of x and y in the following diagram
!“ Q

(a) x=18,y=7 ¢

(c) x=16,y=9

O

(b) x=9,y=16
(d x=T7,y=18

83. The value of which of the .following will
not change if a constant number is added to all

the scores of a series ?

DS.TF-2-24
79. ﬁmﬁﬂ‘@aagqﬁﬁém%mng_mﬂt
2x— 187
(a) 2x3_7x2+5x—4

2x3 + 7x2 —bx + 4
2x3 —7x2 - 5x + 4

(b)

(c)

@ 2=+ 7x2+5x+4
W

800 T YT 13 Geiftra & 2190 ¥, I YRR 14 Feifere

"“\5 S
(a) 2737 () 2738
N (¢) 2739 d) 2736
si"*“i T 99 1, aﬁﬁWWWﬁW,?ﬁWW
Wﬁmq@;m%?

(a) I fF AT ST R
(b) TG TRIATEI AT R
() TIMAEAS
@ a‘s’mt?rw%

(b) x=9,y=16
d x=7,y=18

© x=16,y=9
aﬁ%ﬁm%mﬁmﬁ@ma@rﬁ?ﬁ
m,ﬁﬁm%ﬁaaﬁﬁﬁﬁa%amﬁqﬁaﬁqﬁ
T ?

(a) Median (a) HTETh (AEAh)
(b) Mode O (b) <EdS
(¢) Standard deviation ‘»53 © T R
(d) Mean g\% @ o ; v |
If the side lengths of a square are doubled, | .,
@ then how much area will be increased ? gg‘% afe’ ia;a{’“ i Eﬁf?‘iﬁﬂq aT]:ﬁ K & 9, Y Seree
4 i (b) 4 times - i e ST
o sone o M @ AT (b) TR
(¢) 5 times (d) 2 times o & a{n
c
85. *196 is distributed in 300 children. If girls e © ;
gain 71 and boys 50 paisa, then what is the | 85- =<~_196a$r 300 T 1 sifer 7T | qﬁa@ﬁm}@f 1
number of boys ? TR TAgh! T 50%%@,3‘[@@3@@1%?
(a) 210 (b) 212 (a) 210 b)) 212
(© 214 (d) 208 () 214 @ 208
A 11 A I o AT
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88.

BRI e —— T T

\&/.

6

03,

Given HCF (306, 657) = 9.
Find the LCM (306, 657).
(a)

21331 (b) 22318 W
(¢) 33228 (d) 22338 Ly
= (N
0235 =? {.@i
233 237 ) 'i‘\\
a) —= by 2 L%
N 990 (b) 990 '
235 . 985 ("
(©) - ) —
: 1000 ( 990
Ogive

curves for ‘more than’ type and ‘ess
than’ type distribution intersect at :

(a) median (b) mode Yy
(¢) origin (d) mean

If the points (1, x), (5, 2) and (9, 5) are|

collinear, the value of xis:

@ -3 B -1 > };;
4 5 531‘“
1 ayi2 i
(¢) (d) > e

2 cubes, each of volume 1)
to end, then the surface area of the resulfing

cuboid is : _ {*}
(a) 81 cm?2 (b) 54 cm? | 7
(c) 32cm?2 (d) 90 cm?2 :

How many triangles are there in the following

figure ?
* . F
- LE
Sy 4L
- ~ tﬂ“!
(a) 10 (h) 12 i)
(e) - 11 (d) 8 )
The missing number in the series is: )
4,18, 48,7, 180 @
() B8O (b) 90
{e¢) 100 ¢ (dy 60

2x% 4 2

1
W o :n the value of —2 72
If 54 = 2, then the valu A A 13

will be ¢
4

(n)

(h)

86. - HCF (306, 657) =9 feamg |

87.

88.

89.

90.

|91,

92,

93.

. (o) 3292

LCM (306, 657) ST FhiforT |
(a) 21331 (b) 22318
(c) 33228 (d) 22338
0235 =2
233 237
@ o0 &) S50
235 : 235
© Tooo B
THER ¥ w0’ A TR ‘z?ravﬁqéﬁ’ﬁwré;%fq
T #75h Th-38 T I R
(a) W (b) TEEASRE
(©) FA-frgwm (d) 3T ()
‘TFT%: ; i B
@ -2 b -1
(e) 11"\ ok " (d) 5

27@##3@%?&%2@@@@@3@@@
ﬁaw%ﬁ?ﬁmﬁmmméﬁw%
(@) 8132 (b) 54 8

(@ 90 2
FEAfIRe srepfe ey e 8 «

b) 12-
(¢) 11 d s-
A0l 4, 18, 48, 9 180 A w Ter &
(a) 80 (b) 90
() 100 (d) 60
?Tfi'x+l=2_5?f,?ﬁ 2x2+2l
X 2
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! DS.TF-2-24
—is/are used by human beings most A IER
¢ Tt LRI
of the time to control the behaviour of others e P IR
as well as of themselves. CARERIER Wﬁaﬂ%ﬂ - W'@lﬁ/élal % |
(a) Words o (b) Postures (a) &g OB
(¢) Punishment (d) Rewards (c) Tug/asl (d) JTERR
It is human nature to know why we/others | 95. gt{/a:ﬁ: AT =&Y Tch fafsme ﬁ'ﬁaﬁ T FTRR A %
behave in a specific way. The process of ‘I8 GIFFIT T A ‘;Iaﬁr T | N I 3'{41}[ %
explaining our own and others’ behaviour is W%ﬁ?{w?ﬁm ] ma’reﬁ%| ’
(a) Prosocial behaviour (a) s @ d ‘ ‘
(b) Discrimination ,' A(b) Acecicu) i
- (¢) Attribution : SRR 1O W e - g
(d) Altruism / f;,;)(d) qfeqare ) Sy
96. ) Tendency of people to like each other is|96: el <} Teh- @ﬁmﬁ@fm g
——— { ¢ /z, 1‘lz)(a) qa-fg—g P <
(a) Prejudice Vi f%\ﬁﬂ ‘
(b) Discrimination : (b) ;
(c) Attractiveness o (e) '
(d) Reciprocity of liking (d) Waﬁw
97\ Which decision-making bias refers to the|?7 /A S § HE-ET TS el T ST e i)
tendency to.give excessive weight to the first | ' N&%ﬂ%ﬁéﬁﬁgaﬁl B wehi FATE ?
information received ? “ qﬁa:mqa‘fag S
(a) Confirmation bias | /D (b) Wmﬁr [,
(b) Availability heuristic ’ 1,09 ©); q%]gfgqa‘ﬁag ]
(c) Hindsight bias ‘ '.y”} r .
(d) Anchoring bias . , lol (d) & Iq?:ﬁ'ﬂ‘s’
98. | What are the four bas1c commumcatwn 98¢ o ZWW W)WWW%?
skills ? b (| wmm 2. G
1. Understanding 2 Listening 2 5)‘,'33. gﬁmm 4. S
3. Informing 4. Speaking f.g‘ 35 WW 6. wET .
7. Difleonding . & - it 7 . ‘%*@%”ﬁ'
Select the correct answer from the codes glven ﬁﬁmwﬁaﬁwww
() 2,468 ) 13,78 © 7,256, (@ 35217
(© 17,256 d) 3,527 99. ﬁmﬁrﬁaﬁﬁ%mwﬁwﬁﬁmﬁxw
o\ FHERE?

shortest duration ?

(a) Immediate memory
(b) Echoic memory |
(¢) Iconic memory

(d) Working memory

100,\ Functional fixedness is a kind of
(a) Confirmation bias
(b) - Creativity bias
(¢) Mental set *~

‘

y Which of the following type of memory has the |

(d) Forward working

) vt
“a(b) wfreafs @i
(“¥e) gﬁmwmﬁr
"‘}(d) FRiw i /
100; )Wf‘%‘ﬁ‘llw (agm)@mﬁ
gf@qa’m%
L

S A

(b)
(©)
(d)
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